EECS2030 Advanced Object-Oriented Programming
(Fall 2021)

Q&A - Lecture 2a

Thursday, September 30



Announcement

_ Lab! (duefOct. 1) Zp /w

- Written Test (due: Sep. 30 - Oct. 1)
- Lec’rure@(released: Sep. 27)

- Programming Test 1 |Guide |& Practice (released: Sep. 29)
-@(’m be release@




Assume that a Person class is already defined, and it has an attribute name, a constructor that initializes the person’s name from the input string, and an accessor _gefName " returning the
person's name. Consider the following fragment of Java code (inside some main method): -

Person p@ = new Person("Suyeon™"); —
Person pl = new Person("Yuna"); ] = m‘d [ ]
Person p2 = new Person("Sunhye™"); Q '9 Fa{m'rzco r 3
Person p3 = new Person("Jihye™"); — E \]
= pc 1 - [ ]
=Ig ¢33 L » pasoniz _Te«m,;] 2
p2 ;

Per‘so&j personsl = {p@, p1l,

Person[] persons2 = new, er'somer"?(‘msl.length]; Z .a Mw‘r? EZJ = Fwd\l C(':]
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Sy personsZ 1] = personsl[personsg.length - i - 1];
¥ = 3 0
Executing the abov;;Fagment of code, after exiting from the Icﬂ;‘indicate the value of each of the following eXpressions. @ 3

persons2[3].getName() | Choose... b
persons2[2].getName() | Choose...
persol - C\hoose..,

ons2[0].getName() | Choose...
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mt = 225
1 |Person p® = new Person("Suyeon" r t 7 = 2% -
2 |Person pl = new Person("Yuna"); d b
3 |Person p2 = new Person("Sunhye"); —
4 |Person p3 = new Person("Jihye"); L = 7 5
J’|p0 = pL; (_(
@ | B2=p3:
i Person[] persons = {p0, pl, p2, p3};
W‘g& persons[1]; < ’
\9/ persom
10 § stem.out. pr1nt1n( 'Done!");
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Consider the following call stack where method ma from class A throws a NegValException:

N

4{("' ethod A.ma causes an error and an
NegValException object is thrown

throws an . method call
exception

ethod B.mb chooses not to handle the

f d LI error and propagates it
ORSBACE) SY 3 to its caller (i.e., Tester.main).

propagates
an exception
method call
tch Method Tester.main method
SERCEEP Al chooses to handle this error, so that
exception

this NegValException is not

M(\h propagated further.

-
In the above call stack, upon satisfying the catch-or-specify requirement, how many methods opt for th( specify oalon? Your answer must be an integer value.
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